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And one because of extracting — PP 2R NANY

OVERVIEW

X995 17 ruled that if one threw a clod of earth at a date palm and dislodged dates
from the palm, he is liable for w?In and paon. There is a dispute between >"w1 and
nodIN as to the MoK of 2791 here.
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The ' does not agree to 3295 who explains P7951 to mean that he unloads the

tree from its burden, by removing the fruits that are on it from the palm tree -
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But rather the °"1 prefers as the w''9 explains it; there is an outer shell on the
dates -
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And when he hits the dates he removes the shell from the dates -
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So it is like w7 (threshing) where he removes the grain from the stalk.

SUMMARY

P91 by @m0 can mean; a. Removing a load from the tree (°"w1 according to '01n),
b. removing the date from its shell (the w"9) (or c. removing the dates from the
fronds or the cluster [our >"wA]).

THINKING IT OVER
Why does the > not accept >"w15??

! The >"w1 in our texts pon 1"7 writes differently than n9oIn quotes and says M723%7 1 00T P19 77 AXY; he
extracts the dates from the palm fronds (or from their date clusters).
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